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Year 6: Angles Practise answers 

 
 

Practise 2: 270 

 

Practise 3: False – a triangle could have 

angles of 60, 60, 60, plus many other 

options. 
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Year 6: Angles Evidence answers 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

107° 

He can’t be correct because obtuse angles 

must be over 90°, so two obtuse angles 

are already over 180° before even adding 

the third angle. The total would be over 

180°. 

a = 160°     b = 20° 



 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

160° 

133° 52° 

73° 16° 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

97° 

The three angles must add up to 180°. 

The three angles must add up to 180° 

and we already have 35° and 90°. 

55° 

x = 55° 

y = 25° 



Year 6: Angles Extension answers 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 


